M1. (a)	1	South	or	S					B1	
((b)	North-E	ast	or	NE				B1	[2]
M2. (a)	I	7.5 (cm)	[7.4	4, 7.6]					B1	
		their 7.5	× 25 the	ir 7.5 n	nust be ≤	11			M1	
		[185, 19	0] ft tf	neir 7.5	ст				A1ft	
((b)	Correct	bearin Lin	g seen e <i>or p</i>	or implie oint	əd			M1	
		Point ma	arked 2 n	nm tole	rance				A1	[5]

M3.

 4×5 rectangle

PhysicsAndMathsTutor.com

			B1 for a rectangle with perimeter 18 cm B1 for a rectangle with area 20 cm ²	B2	[2]
М4.	(a)	75°	Any unambiguous indication	B1	
	(b)	075	Strand (i) Must have 0 as first digit ft their (a) Allow [073, 077]	Q1ft	[2]
М5.	(a)	120 + 90 - 420	+ 120 + 90 oe	M1 A1	
	(b)	120 × 90 c their 10 80	or 10 800 10 × 4.15	M1 M1	
		44 020	ft if cost > 500 seen and correctly rounded to nearest 1000	A1 B1ft	[6]

M6. [7.7, 7.9]		B1					
their 7.8 × 50		M1					
[385, 395]		A1ft					
Additional Guid	Additional Guidance						
7 cm = 350 km i	s B0 M1 A1ft		[3]				
M7. (a) [068, 072]	Strand (i)	Q1					
(b) 095	If both answers are correct apart from missing the leading zeros in (a) and (b) eg answers 70 and 95, award 0, 1	B1	[2]				

M8.



B3

B1 for 1 condition met

Additional Guidance



Ben is North-East of Adam Darren is South-East of Emily

Answer plan takes precedence over the plan at the top of the page, but this plan can be marked if the answer plan is blank

Name in each box takes precedence over names written above or below unless clearly crossed out

Allow abbreviated names

If a name appears twice then conditions involving that person can't be met

B2

B1

B1

M9.(a) Zoo

Accept Z

(b) Hospital

Accept H

(c) [063, 067] B1 for [63, 67] or 062 or 068 SC1 for [243, 247]

B2

B3	[3
В3	[3]
B3	[3]
B3	[3]
B1	
B1ft	[2]
М1	
A1	
M1	
	M1 A1 M1

[5]

			16 × their 3.75	M1dep
	60		SC2 answer 67.5 (length = 2 × width) SC1 answer 72	A1
M13.	(a) (b)	90 2 × 45 (= 9 or 2 × 42 (- 2)	0)	B1
		5 × 12 (= 36	oe, e.g. 45 (+) 45 or 12 (+) 12 (+) 12 or 57 (+) 57 or their (a) + 3 × 12	M1
		2 × 45 + 3 × or 90 + 36 (=1	< 12 (= 126) 26) 0e e,g, 45 + 45 + 12 + 12 + 12 57 + 57 + 12	A1
	(c)	45		B1
		+5 - 12 33	$oe \ eg, \ \frac{\text{their } 90 - 2 \times 12}{2}$	M1

or

	ft their x from (a) for 90	A1ft
(d)	882 ÷ 126 (= 7)	
	or 8.82 ÷ their 1.26 (= 7)	M1
	their 7 × 10 (× 2)	
	oe e.g. their 7 × 5 (× 4)	M1
	(small =) 140	A1
	their 7 × 4 (× 2)	
	oe e.g. their 7 × 2 (× 4)	M1
	(large =) 56 SC4 70 and 28 or 35 and 14 as answer SC2 70 or 28 or 35 or 14 as answer SC2 integer values of small and large in the ratio 5 : 2 as answer, e.g. 100 small and 40 large	A1
	Alternative 882 × 180 (= 158760) or	
	$126 \times 90 \ (= 11340)$ oe e.g. $882 \times 90 \ (= 79380)$	
	or 126 × 90 (= 11340)	M1
	their 158760 ÷ their 11340 (= 14) oe e.g. their 79380 ÷ their 11340 (= 7)	M1
	their 14 × 10 or	
	their 14×4 oe e.g. their $7 \times 10 (\times 2)$	

M14.

		their 7 × 4 (× 2)	M1	
	(small =) 1	40	41	
	(large =) 50	6		
			AI	[11]
(a)	10	Accept [9.8, 10.2]		
			B1	
(b)	(<i>AB</i> =) 7.5	(cm)		
		Accept [7.3, 7.7]	B1	
	160 ÷ their	10 (= 16)	M1	
	their 7.5 ×	their 16		
		their 16 ≠ 10	M1	
	120			
		ft their 10 in (a) (must score M2)	A1ft	
	Alternative $(AB =) 7.5$	e (cm)		
	(, , , , , , , , , , , , , , , , , , ,	Accept [7.3, 7.7]	B1	
	their 7.5 ÷	their 10 (= 0.75)		
		oe	M1	
	their 0.75 >	< 160	M1	
	120			
		ft their 10 in (a) (must score M2)	A1ft	

[5]

M15.

(a) 110 seen

May be on diagram

70 or 110 clearly identified as one of the angles shown





B1ft

B1

070

ft their **obtuse** 110 Q0 70 Strand (i) SC3 Answer 070 SC2 Answer 70

(b) $8 \times \frac{1}{4}$ or $8 \div 4$ or 8×15 (= 120) 15 $0e \ eg \ 8 \times \frac{15}{60}$

[1.99, 2]

M1

A1

Q1ft

[5]